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e wfafRie sfRifrm, 1951 F s
TSHITAeh el o Goilehty] 3 foTT anifveyr
Tay ¥ fefeien s w Rem it ;
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fifr & 30 fft % sfim ger fafem

| 3TgH, W FateR S ® g

fopram s =g | ‘

D) <= % M ¥ o =1 sl &1 9 Pk
&1 BT IR |

(1) &1 % R GAEERE 5 RigT ¥
FFEIER AR

AV) T $ TeEd Wt = R
ATt 3 R A |

R 1 TN L g T ST I

e

(1) s (D), (III) 7o (IV) 78 E |

(2) e (IT) 7o (IV) 58 & |

(3) e (II), (I1I) 7 (IV) T & |

@ (@), (D), (II1) 7 V) wft 7 € |

(5) 3TFARG I

R 2024 ¥ 9WG R X % fagrdt
TSI % T M T ST fohar 7

@ RS e foreteH e
AD) R forsReM e 3T Bga
(I1D) igew foratem 3mdf 377 Afdgy
AV) e Bgu R e ‘
Il 3 & e foreeq o = i ;
(1) = (I) 3R (1)

(2) e (I1) 3R (A1)

(8) e (IIT) 3k IV)

(4) %= (I1) 3R (IV)

(5) g Fe

‘Consider the following statements

regarding guidelines for

registration of political parties

under the Representation of the

People Act, 1951 :

I The application for

~ _registration should be

submitted to the Chief
Election Commissioner,
Election Commission of India
within 30 days from the date
of formation of the party.

(II) The name of the party should
not contain religion or caste.

(IITI) The objectives of the party
should be in consonance with
the principles of socialism.

(IV) Membership of the party,
open to all adult Indian
citizens.

Select the correct answer using the

codes :

Codes :

(1) Only (I), (III) & (IV) are correct.

(2) Only (IT) & (IV) are correct.

(3) Only (II), (IIT) & (IV) are correct.

(4) @), dD), (III) & (IV) all are correct.
(5) Question not attempted

With which of the following

insurgent groups, Government of

India signed peace agreement in

September 2024 ?

(I) United National Liberation
Front

(IT) National leeratlon Front of
Tripura

(IIT) People’s L1berat10n Army of
Manipur

(IV) All Tripura Tiger Force

Choose the correct option from

given above :

(1) Only (I) and (II)

(2) Only (IT) and (III)

(3) Only (III) and (IV)

(4) Only (IT) and IV)

(5) Question not attempted
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i 3¢ % v § fforiea el W fomm

Hifre :

@ i H s @i @ adwem
1947 ¥ BRA 3% BRI F Th @
2 Ot 3% Qfad e’ § TR
feram |

) amifee i R it gia fgm
el aw o | ;

(IIT) 20 R 12 7T, 1948 I e
o @ % Tgufa g8m g few o
IO & Ieq g1 |

H’Eﬁﬁmﬂﬁﬁ

(1) e (1) iR |

(2) et (I1) o (I1T) Wt & |

(3) e (D) T (ID) W 2 |

(4) ¥aa (T) a2 (I1I) @& & |

(5) I ¥
ghaon  feymewn  fafeE-2024 &%
g & g Frefalaa 4 @ w9 @
W FE gAfea TE B ?

T g Wfieft wft +fie
(1) aRdEvHa O — 48 :

(2) %mﬁw@wm’rhﬁ ooy
(3) 3T AAABTA — 3
(4) T

(5) e e

-3

(1T N ——————ERA R

Consider the following statements

regarding the Cold War :

(I) The US policy of containment
was first published in 1947 in
an article in Foreign Affairs
Magazine, “The Sources of
Soviet Conduct”.

(II) The US policy of containment
was the core element of the
Truman Doctrine.

(III) The Truman Doctrine arose
from a speech delivered by
President Truman to a special

session of the Senate on

March 12, 1948.
Select the correct option :
(1) Only (II) is correct.
(2) Only (IT) and (III) are correct.
(3) Only (I) and (II) are correct. -
(4) Only (I) and (III) are correct.
(5) Question not attempted

Which of the following pairs is not
matched  regarding
results of the Haryana Legislative
Assembly Elections-2024 ?

Political Party Seats Won

correctly

(1) Bharatiya — 48
Janata Party

(2) Indian National — 37
Congress

(3) Indian National — 3
Lok Dal

(4) Independent - 3

(5) Question not attempted
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forareer et g Pefifea 3 & 9 3
R R 7

1) WEEH

(1) Gt

(I11) sisa gy 1 aitem
AV) T frgra =1 uitwm
I # & wd e 9w :

(1) == (T) 3R (A1)

(2) e (I) 3R (11T)

(3) e (I), (IIT) 3R IV)

(4) (D), (D), (A1) 3R AV) T+t

(5) IFeIRT I
Prafafea & & #57 @1 g0 w8 gifra 78
27

L W 3¢ H &

(1970 FTHH)
(1) S Arhdi=Es — T g
TS

(SfEiem)

(2) GifaaEw — fornfae sema
(JTHTHIR)

(3) drtvs — e fRw

(4) IPRAEIRAT  — IE IS
(5) g T

BB e m—" - —————— (—

Which of the following reforms
were  brought by  Mikhail
Gorbachev ?

(I) Perestroika
(IT) Reagonomics

(IIT) Abandonment
doctrine

(IV) Abandonment of
doctrine

of Brezhnev

Sinatra

Choose the correct option from
given above :

(1) Only (I) and (IT)
(2) Only (I) and (IIT)
(3) Only (I), (III) and (IV)

4) (@), dI), I1I) and (IV) all
(6) Question not attempted

Which of the following pair is not

correctly matched ?

Country Leader during
the cold war
period (1970s)

(1) German — Erich

Democratic Honeker

Republic GDR)

(2) Soviet Union - Leonid

(USSR) Brezhnev

(3) Poland — Edward
Gierek

(4) Czechoslovakia — Janos Kadar
(5) Question not attempted
98




74

98

SHIeS 9 TITEE & Ty § fefafad
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(1) SHeE 29 4 ‘Te® ATH AfRaal’
I SR TeH HATh IR’ W
Tean

(2) SHES T I ‘HISE STl W1 AW
et ‘HISE Behihael . 1@ fea |

(3) BHTeE T 3 9 HEd ) M Hi
Tt foma % &9 4 Ao fopa |

(4) 79 I T AT® AR H AW
TRedd T FRER Iew i
% g fopa |

(5) TFARa A

e & few it & g=fRa w1k

g & o # el oAt W famw

i :

@) S, 1980 H Shifte foram mm |

(I1) ot 1T A =g won <t o BRE
@ 83 R e gH o fore foadh oft
wTed arehd g R T T Y EgE
TSa STt & Aeey fedi o el
T ST 37K 36 & & &9t Bl 8
oo wiea fereht ot g 4 Aehr ST |

(III) 98 HK g Td F7 § = A}
FGATE T ST A e ST HIR AR
ek ifar ot |

2 R ™ Reedt § ¥ W W W

Hifore :

(1) %ot (I) o (ID) T € |

(2) et (1) @& (1) T & |

(3) e () W (IID) && 8 |

(4) @, (0) & 11D 92 |

(5) I ¥

(1 e s smmss s it i s s T Tt it

Which of the following statements
is not correct regarding Donald
Trump administration ?

(1) Donald Trump renamed ‘Gulf
of Mexico’ as ‘Gulf of America’.

(2) Donald Trump renamed ‘Mount
Denali’ as ‘Mount McKinley'.

(3) Donald Trump designated
February 9 as ‘Gulf of America
Day’. :

(4) Trump renamed ‘Gulf of Mexico’
through an executive order
titled “Restoring Names That
Honor American Hegemony”.

(5) Question not attempted

Consider the following statements
regarding Carter doctrine of
United States of America’s foreign
policy :

(I) It was proclaimed in January,
1980.

(II) Jimmy Carter declared that
an attempt by any outside
force to gain control of the
Persian Gulf region will be
regarded as an assault on the
vital interests of the United
States of America and such
an assault will be repelled by
any means necessary,
including Military force.

(III) This was more tougher talk
and more centrist policy than
Carter had originally
articulated and pursued.

Choose the correct answer from

options given below :

(1) Only (I) and (II) are correct.

(2) Only (IT) and (III) are correct.

(3) Only (I) and (III) are correct.

(4) (D), (IT) and (III) are correct.

(5) Question not attempted
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10.

11.

wE-2025 § afgen wify @i & forg
‘@i 3 Nafeim - T wee gy
wEufdea’ fawe w ggen s em S
fopa

(1) Sehratd (2) Hreug H
Q) Hiehd (@) P d
(5) ST S

W — 2025 § W S T Y S

T 3 A WA — THREHT T T &

Ty 3 Frefeifaa st w e Hiftn :

@ Tgafa 7 R guEeEs @ ¥ T
7 vgd & i - “219f 7@t & forg
Jud — e Hidw” |

(ID) 3rfEsT 3R wra 7 fguefis =R %
o w T g Fufia e -
“freM 500”7 |

(IIT) 3mfes 3 wRa 4 9u8 — sfean
HY Ige’ i JEHTT |

& fepeq 1 wg= Hifre

(1) e (T) 3R (1) T % |

(2) et (IT) 3 (I11) L& |

(3) et (1) 3R (I10) &t & |

4) @, (A1) 3R QII) @i FE € | |

(5) TR ¥

freferfiea & & Rl e Ty ol o |
m:rrﬁaacri‘cqagmzozs-203oaaﬁﬁai|
FRFE F fou FUEE A |
s s aqaFwadgumr 7 |
1) PegTog (2 e |
(3) ATSiia vanfean (4) fafesm #=n %

|

(5) TFRa T

6

10.

11.

In February - 2025, the first
conference for women peacekeepers
on the theme “Women in
Peacekeeping — A Global South
Perspective” was held at —

(1) Jakarta (2) Kathmandu
(3) New Delhi  (4) Colombo
(5) Question not attempted

Consider the following statements
regarding India - US Joint
Statement during the visit of Prime
Minister of India to United States of
America in February — 2025 :

(I) President Trump and Prime
Minister Modi launched a new
initiative — “the U.S. — India
COMPACT for the 215t century”.

The U.S. and India set a new
goal for bilateral trade -
“Mission — 500,

The U.S. and India

announced the launch of the
“U.S. — India FAITH initiative”.

Choose the correct option :

(1) Only (I) and (II) are correct.
(2) Only (II) and (III) are correct.
(38) Only (I) and (III) are correct.
(4) (I), (IT) and (III) all are correct.
(5) Question not attempted

(1)

(I1I)

Who among the following has been
elected by the United Nations
Economic and Social Council as a
member of the International
Narcotics Control Board for the
third term from 2025 — 2030 ?

(1) Aniruddha Rajput

(2) P. Gopinathan

(3) Jagjit Pavadia

(4) Vidisha Maitra

(56) Question not attempted
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13.

. Profiiea # ¥ frey RRE e

frfefea o & Terdi shitehey : 3fosa™
T qfeeh WA J&ieh o HUTesh i o
i

(1) TH. SN TS HY. IT W

(2) TH. SIYH TE HY. TS A

(3) TH. v T G g

(4) H. SEve wd foshn fadt

(5)  ITRA T

Frefafea § & = a1 fwes, ToHifd 6
AT S 3R ety % W
T Sfeear & forg, R ToHifa
T & =it saagRaTe 3R ughhamg &
SATAAT HET 2 ?

(1) 99 H&d

(2) T9HTE SfelT

(3) YA . Aifem

(4) TSI HITIThISEh!

(5) g A

et aie # % for ‘a8 wha ugi it |
v 7t ol v ; s A &€ &= |
vifea &, s oft o wfd 2 | 38 Afaes wife |
EIK:RIRARS IR E T :

(1) TETEEAe IEE ‘ i
(@) i {
(3) .. TR T |
(4) Rz i
(5) STIRRE 5 |

7

12,

13.

14.

Who among the following are the

editors of the book ‘Raisina
Chronicles : India’s Global Public
Square’ ?

(1) S.dJaishankar & C. Uday Bhaskar
(2) S.Jaishankar & C. Raja Mohan
(3) S. Jaishankar & Samir Saran
(4) S. Jaishankar & Vikram Misri
(5) Question not attempted

Which of the following thinker
the reigning
behaviouralism and methodism in

criticizes

American Political Science for its
reductionist explanations of the
political and its complicity with the
status quo ?

(1) Thomas Kuhn

(2) Isaiah Berlin

(3) Sheldon S. Wolin

(4) Leszek Kolakowski

(5) Question not attempted

Who among the following stated in
Non-Aligned Movement Summit

that “The
assembled here is not military

power of nations

power or economic  pOwer,
nevertheless it is power, call it
moral force” ?

(1) Jawaharlal Nehru

(2) Indira Gandhi

(3) P.V. Narasimha Rao
(4) Narendra Modi

(5) Question not attempted
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16.
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T —. T — Tu—————

15. Consider the following statements

16.

regarding Karl Popper :
@

Popper suggests an
amendment to the principle of
verification with his principle
of falsification.

(II)

Popper advances the principle
of falsification by arguing that
no observations, however
numerous, can prove the
truth of a hypothesis.

(III) Popper accepts the traditional
assertion that scientists look
for the maximum degree of
probability, given the evidence.

Select the correct answer :

(1) Only (I) and (II) are correct.
(2) Only (I) and (III) are correct.
(3) Only (II) and (III) are correct.
(4) (), (II) and (III) all are correct.
(6) Question not attempted

Consider the following statements

about Alan Kirby’'s views on
‘Digimodernism’ :
Statement-I It had first

appeared in the second half of
the 1990s. :

Statement-II : It has decisively
displaced postmodernism and
established itself as the new
cultural paradigm of the
twenty-first century.

Choose the correct option :

(1) Only (I) is correct.

(2) Only (II) is correct.

(3) Both (I) and (II) are correct.

(4) Neither (I) nor (II) is correct.

(5) Question not attempted
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17. With reference to the views of

Arnold Brecht on scientific method,

consider the following statements :
(I) Arnold Brecht -called the
knowledge obtained through

scientific method as ‘inter-
subjectively transmissible
knowledge’.

(II) According to Arnold Brecht, a
proper use of other historical,
anthropological and psychological
methods in the scientific method
is not permissible.

Which of the statement/s given

above is/are correct ?

(1) Only (I)

(2) Only (II)

(3) Both (I) and (II)

(4) Neither (I) nor (II)

(5) Question not attempted

. Which of the following scholars are

associated with contextualist approach ?
(I) Andrew Hacker

(II) Quentin Skinner

(ITI) J.G.A. Pocock

(IV) John Plamentaz
Choose the correct option :
(1) Only (I) and (III)

(2) Only (II) and (III)

(3) Only (II) and AIV)

4) @), dD, (III) and (IV) all
(5) Question not attempted
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19. Consider the following statements

20.

regarding the Mechanistic theory
of state :

@

(II) State is a means, not an end.

(ITIT) This theory makes a clear
distinction between state and
society.

(IV) State is a manifestation of
superior will.

State is a social institution.

Select the correct answer :

(1) Only (II) is correct.

(2) Only (I) and (II) are correct.
(3) Only (I) and (IV) are correct.

(4) (D), dD), II) and (IV) are correct.
(5) Question not attempted

Consider the following statements :
(A) According to Henry Maine,
primitive - societies were
matriarchal. :
Maclver has rejected state of
nature proposed by social
contract theorist.

(C) According to Engels, there
were three stages of social
organisation before the origin
of the state.

(D) According to Herbert Spencer,
a living organisation is
developed not created.

Which of the above statements are

correct ?

(1) Only (B) & (C)

(2) Only (A), (B) and (C)

(3) Only (B), (C) and (D)

(4) Only (A) & (D)

(5) Question not attempted

(B)
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22.

. The state 1s 02

. State — A joint

21. Which of the following statements

are correct ?

(A) Lasswell has called the state
as ‘One Sovereign Geo-
Regional Group’.

(B) According to Bonde,
Sovereignty is restricted by
divine and natural laws.

(C) “Bonde has view that
sovereign has unrestricted
right to snatch private
property.

(D) Grotius has opined that, by
social contract people can
keep sovereignty in their own
hand or can handover to king.

Select the correct option :

(1) Only (A) and (B)

(2) Only (C) and (D)

(3) Only (A), (B) and (D)

(4) Only (B), (C) and (D)

(5) Question not attempted

Match the following statements
with related authors :

M.P. Follett
essentially a class

system.

. Will, not force is the ii. T.H. Green

basis of the State.

iii. Oppenheimer
stock protection

company for

mutual assurance
. The home of my  iv. Herbert
soul is in the state. Spencer
The correct answer is
Codes :
Wl oe s od
() & 1 i 1v
(2 &y i 1iv i
(B i di oy

(A5 =i 0 iy

~(5) Question not attempted
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23.

24,

Consider the following statements

with reference to Pluralism :

(I) Pluralist theory refutes the
traditional theories of State-
sovereignty.

Pluralist theory considers the
State to be an essential
institution of society.

(ITI) Pluralist theory believes that
the status of the State is
supreme compared to other
important groups in society.

Select the correct answer :

(1) Only (I) and (II) are correct.

(2) Only (II) and (IIT) are correct.

(3) Only (I) and (III) are correct.

(4) Only (I) is correct.

(5) Question not attempted

(II)

With reference to the concept of
‘Cultural Pluralism’, consider the
following statements :
Statement-I : Cultural pluralism
is a term first popularized by
the sociologist Horace Kallen to
describe the interaction of
diverse cultural, ethnic and
religious groups in the U.S.
Statement-II He argued in
support of the “melting pot”
theory and advocated the
preservation of diverse cultural
identities within society.
Statement-III : He expressed his
ideas in an article, “Democracy
versus the Melting Pot” which
was published in 1972.
Which of the statement/s given
above is/are correct ?
(1) Ionly (2) I and III only
(3) II only (4) Iand II only
(56) Question not attempted
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25. Which of the following statements is

26.

r— ———— ——— —— T ——— ——— T —— —— . S—oa———

not correct regarding the President
of United States of America ?

(1) The
people punished under the

President can pardon
state law.

(2) The President cannot pardon a
person who has been punished
through
proceedings.

impeachment

(3) The President may not dissolve
Congress.

(4) The President can call a special
session of the Congress if

necessary.

(56) Question not attempted

Consider the following statements
with reference to the Constitution
of France :

(I) The President of the Republic
shall be the guarantor of the-
independence of the judicial
authority.

The Prime Minister of the
Republic shall preside over
the Council of Ministers.

(1)

Which of the statement/s given
above is/are correct ?

(1) Only (D)

(2) Only (IT)

(3) Both (I) and (II)

(4) Neither (I) nor (II)

(5) Question not attemptéd
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28.

Consider the following statements
regarding the British Parliament :
(I) The House of Lords cannot
scrutinize the executive
through question time and
through its committees.

Since the passage of the
Parliament Act 1911 the
power of the House of Lords to
reject bills passed by the
House of commons has been
restricted.

Select the correct answer :

(1) Only (I) is correct.

(2) Only (II) is correct.

(3) (I) and (II) both are correct.

(4) (I) and (II) both are incorrect.
(5) Question not attempted

(II)

Match the following provisions
related to the President of United
States of America :

a. Removal of the i.
President

Article I,
Section 7,
Clause 2

b. Presidential 1. Article II,
Power of Pardon Section 4

c. Presidential Veto iii. Article II,

Power Section 2,
Clause 1

d. President’s iv. Article II,

Power to appoint  Section 2,
Judges of the Clause 2

Supreme Court

Correct answer is :
a b c d

(D vy nS el
(2 a1ty
(8)- il = s sy
@417 n - aviga

(5) Question not attempted
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29.

30.

Which of the following statements
about the highest administrative
court of France ‘the Conseil d’Etat’
is correct ?

Statement-I : It is the final arbiter
of cases relating to executive
power, local authorities,
independent public authorities,
public administration agencies or
any other agency invested with
public authority.

Statement-I1 It advises the
Government  through  four
specialized departments : the
department of Home Affairs, the
Finance department, the
department of Public Works and
the Administrative department.

Statement-III : It is also responsible
for the day-to-day management of
the administrative tribunals and
courts of appeal.

Choose the correct option :

(1) Only I &II (2) OnlyII & III

(3) OnlyI & III (4) I, II & III

(5) Question not attempted

With reference to the composition
and election of the Council of
States, the house of the Federal

Assembly of Switzerland, consider

the following statements :

Statement-I : The Council of
States is composed of 46
representatives of the Cantons.

Statement-II : The Cantons of
Obwalden, Nidwalden, Basel-
Stadt, Basel-Landschaft,
Appenzell Ausserrhoden and
Appenzell Innerrhoden each

. elect one representative; the
other Cantons each elect two
representatives.

Statement-III : All representatives
of the Cantons are elected
directly by the people according
to a system of proportiona
representation. :

Which of the statements given

above are correct ?

(1) Only I & II' (2) Only IT & III

(3) OnlyI & III (4) I, II &III

(5) Question not attempted
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31.

32.

Which of the following is not
correctly matched ?

(1) Democracy is a government in
which everyone has a share —
Seeley _

All that a democratic state
means is that the community
as a whole possesses sovereign
authority = Hearnshaw
Democracy 'in practice is the
hypothesis, that all men are
equal which is used in order to
discover who are the best —
C.D. Burns

In a complete democracy no
one can complain that he has
not a chance to be heard — A.V.
Dicey

(56) Question not attempted

@

3

(4)

With reference to theory of
separation of powers, consider the
following statements :

Statement-I Montesquieu’s
theory of ‘separation of powers’
is inspired by John Locke’s
work ‘Twe Treatises on Civil
Governance’.

Statement-II :In ‘Persian Letters’
Montesquieu first time
distinguishes between
democracy, monarchy and
despotic regimes.

Statement-III : In separation-of-
powers systems, where the
legislature vand the executive
are both selected by the voters,
the institutional autonomy of
the legislature is decreased.

Which of the statements given

above are NOT correct ?

(1) Only I &ITI  (2) Only II & III

(3) Only I &IIT (4) I,1I & III

(5) Question not attempted
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33.

34.

35.

Who among the following scholars
used the term “Governmental
Dyarchy” for semi-presidential
governance ?

(1) Joseph M. Colomer

(2) Maurice Duverger

(3) Ernst Veser

(4) Robert McCloskey

(5) Question not attempted

Which of the following methods are
adopted for distributing power away
from the center in unitary states ?

I. Deconcentration

II. Decentralization

III. Devolution

Choose the correct option :

(1) OnlyI & II (2) Only II & III
(3) Only I &III (4) I, II & III

(5) Question not attempted

With reference to the institutions
and their functions prevalent in
Athenian democracy, consider the
following pairs :
Institutions

I. Ecclesia -

Description
The popular
courts in which
citizens argued
cases before a
group of lottery
selected jurors.
II. Boule — A council of
representatives
from the ten
Athenian tribes.
ITII. Dicastery — A sovereign
governing body
that wrote laws
and dictated
foreign policy.
Which of the above are correctly
matched ?
(1) OnlyI (2) Only II
(3) Only III (4) L II &III
(5) Question not attempted



36. GgF TS IS H TABHRES TE F

ey ¥ Frefafed et w feam fifs -

() e AT HAN . 1848 &
TFRF ATHA HFAIA F GRH
TS TS ot | |

(i) SHEHieH TEAE THIREH T Wad
s ToHfs TeA § |

(iii) ks WRIfEe F7 afufa &
&, qrd h yiafaf v & ae
AR |

Hﬁrmgﬁq:

Q) ¥ @) R

37.

(2) Fae (i) T (ii) T2 |
(3) e (i) aeT (iii) T& 2 |
(4) e (ii) o (iii) & & |

(5) STgaRa ¥

-1 gE-11 & gafera L qen gt
%fﬂ%ﬁqmaﬁgwmmaﬁw

i
geft-I 11
ot s g (e vhes)

A. wfafsramerd fogra () S Afeem
B. Sfeard fogr (i) TS =@
C. erar fagra (iii) =Ted .

gftreea

D. et g (iv) STFe S

S :

A B C D
1 @) v @ G)
@ @N =) ia Gv)
@) @) o0D Gv) )
@ G @ G G)
(5) IFaRd 5

i, TRt A oS . A S TS P i T

18

37.

36. Consider the following statements

regarding the Democratic party of

United States of America :

(1) The Democratic National
Committee @ was  created
during the Democratic
National Convention of 1848.

(i) The Democratic Governors
Association is an independent
voluntary political organization.

(iii) Members of the Democratic
Senatorial Campaign
Committee, composed of the
party’s members of the House
of Representative.

Select the correct answer :

(1) Only (i) is correct.

(2) Only (i) and (ii) are correct.

(3) Only (i) and (iii) are correct.

(4) Only (ii) and (iii) are correct.

(5) Question not attempted

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I (Theories of List-II (Chief
Representation) Exponents)

A. Reactionary (1) James
Theory Madison
B. Conservative (11) Jean d.
Theory Rousseau
C. Liberal Theory (iii) Charles V.
Hamilton
D. Radical Theory (iv) Thomas
Jefferson
Codes:

A B C D
(@) - Gii) s Av)ie (e o i)
@ @ @ Q@ G
@ @ @  Gv) (i)
(@ () (@) - Ovea(i)

(6) Question not attempted
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38.

39.

Consider the following statements
regarding pressure groups in
United States of America :

(i) Col. William C. Church and
Gen. George Wingate formed
the National Rifle Association
in 1871.

(1)) In 1954, The American Civil
Liberties Union joined forces
with the Rifle

Association to  challenge

National

racial segregation in public
schools.

(iii)) The American Civil Liberties
Union was involved in the
1973 the
victories in Roe vs. Wade and

supreme court

Dov vs. Bolton cases.
Choose the correct answer :
(1) Only (i) and (ii) are correct.
(2) Only (ii) and (iii) are correct.
(3) Only (i) and (iii) are correct.
(4) (), (i1) and (iii) all are correct.
(5) Question not attempted

In which year did the Labour
Party form government in Britain for
the first time ? :

(1) 1918

(2) 1920

(3) 1922

(4) 1924

(5) Question not attempted
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41.

20

Consider the following statements

with reference to the works of Plato :

(i) Menexenus was a critique of
the Periclean ‘Golden Age’.

(i) Meno continued with the idea
of teaching virtue, as stated in
Protogoras.

(1) It is written in Cratylus that
the idea of Polis (City State) or
state was born in heaven.

(iv) Enthypro states that service to
the divine holiness was noble
activity which elevate the soul.

Choose the correct answer :

(1) Only (i), (ii) and (iv) are correct.

(2) Only (ii) and (iii) are correct.

(38) Only (i) and (iv) are correct.

4) (@), (i), (iii) and (iv) all are correct.

(5) Question not attempted

Consider the following statements

regarding Jeremy Bentham :

(I) Clearly Bentham had reduced
ethics to mathematics; indeed,
he called his method the
‘Felicific Calculas’.

(II) It is important to recognize
that Bentham’s calculas works
only so long as two assumptions
hold, first that the ethical is
identical to the pleasurable, and
second that the pleasurable can
be defined in strictly quantitative
terms such that any pleasure can
be mathematically compared to
any other.

Choose the correct option :

(1) Only (I) is correct.

(2) Only (II) is correct.

(3) Both (I) and (II) are correct.

(4) Neither (I) nor (II) is correct.

(5) Question not attempted :
98
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Sefiaa & shifel o1 ferfiTe o 78 @ 7

() S& ST H1 Icfied R FEER
atfirerma % it Aade T B £ |

(ii) 19 HgW SAfREl Bl Ug W I3 AR
TR FIHTG feRan ST g |

(iii) F& I A STt SAFIAT Bl FHE
Yafaa frm i | ¢

(iv) 5@ SomivE (qrei) @ sTtRita
vfdd & ot 8, S 30filt W gwen
A & N ST Hl WSHI & |

e faspea 4

(1) Fa (i) 3R (i)

(2) Faa (i) 3N (iv)

(3) Faa (i) 3 (iv)

(4) s (i), (i) 3N (iid)

(5) I A

A ——— T — T —— —— T —————— s, i

42.

43.

N
=

With reference to Kautilya’s

‘Arthshastra’, consider the

following statements :

Statement-I : In Arthashastra,
there is mention of an official
named ‘Nagarik’ who was
responsible for the
management of the Nagar.

Statement-II : The duties of the
‘Nagarik’ have been described
in the 36t chapter of the fourth
Adhikaran ‘Sanghavritta’ of
Arthashastra.

Which of the statement/s given

above is/are correct ?

(1) Ionly

(2) II only

(3) BothI & II

(4) Neither I nor II

(5) Question not attempted

According to Aristotle, which of the
following is not a specific cause of
revolution in an aristocracy ?

(i) When the oppression of masses
and dissension within the
ruling elite arise.

(ii)) When great men are
dishonoured by those in office.

(iii) When high-spirited individuals
are excluded from honors.

(iv) When Demagogues are given
unchecked power, who attack
the rich and instigate the
masses.

Choose the correct option :
(1) Only (i) and (i1)

(2) Only (ii) and (iv)

(3) Only (i) and (iv)

(4) Only (i), (i) and (iii)

(5) Question not attempted



44, B9 % gy ¥ f=fefea $uE w fmr

45.

$ifa :

(A) ETeH % IR IES 9 =9 M TaA
& | == T ot ey & § Hehar AR
T <4 ! AR &I ¢ Fehll |

(B) &fed % FER TegE H U H U
T HEe QU iRt T waT @ |
(C) &y ! WAt 3k 7g ¥ & rerd

g1

(D) Trelt 9 fawa =t wfFar, Ty g
et 21

TR HYAE :

(1) %5 (A), B) IR (C) w2 |
(2) % (B), (C) 3R (D) 7 € |
(3) %aa (A) 3R (C) T € |
(4) 5 (C) 3R (D) =t § |
(5) ARG T

FF | At & el & @9y #

freifera et w fiaw Hifvg

() Afearach wrHfaes FrE!hI g Hi
R &l L |

(i) Afpaaeht wEE H ‘wmml
FET % A TET =TEd R |

HE I H1 =94 HIfT

(1) %o () TR |

(2) et (ii) T R |

(3) (i) 3 (i) T T F |
(4) (i) 3 (ii) S T T E |
(5) FFRA T

—— —— —— —— —— ——— ——
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44.

45.

Consider the following statements

about Hobbes :

(A) According to Hobbes, king and
church are independent.
Church cannot order the king

“and king cannot order the
Church.

(B) According to Hobbes, religion
can play important role in
preventing civil war.

(C) The soveréign derives his
power and position from God.

(D) The priests and bishops derive
their power from the sovereign.

Correct statements are :

(1) Only (A), (B) and (C) are correct.

(2) Only (B), (C) and (D) are correct.

(8) Only (A) and (C) are correct.

(4) Only (C) and (D) are correct.

(5) Question not attempted

Consider the following statements
regarding the Machiavelli’s views
on laws :

.(i) Machiavelli does not accept the

concept of natural laws.

(1) Machiavelli wants to keep the
ruler under the ‘positive laws’.

Select the correct answer :

(1) Only @) is correct.

(2) Only (ii) is correct.

(3) Both (i) and (ii) are correct.

(4) Both (i) and (ii) are not correct.

(5) Question not attempted
98




46. FE T WY HioR TEH A G

417.

98

‘s fmfar & ar § frafaRaa HoE w

form =t ‘

HYA-1 : A Fmiar i g @
qAiaio s 2 3 3% =R
G A IE Hh, 3¢ B AHIND
GHIAT % ©¢h § geaT § |

FeR-I1 : B S i T A
o § e safe T8 8, Afed
gl 3o © TR e @,
39T o8 1T ST R |

-1 : &6 4 dF I S
fmtanati, smgwta, T 3R q@1 6
TEEF HIR |

W Rg T HEH A A DA T/A T /2 ?

(1) $aa I (2) aa II

(3) e 11 3 III (4) I, II R III

(5) ITFwRa A

S o B PR YIS e S

TR % IgER, fefafea & | fea

STER W Y I W TEHR ! T8 Fgat o

FHATR ?

(1) 5@ ffm @ % aififes w4
TERY FHET & I g H YR W
37 W1 N HAT R |

(2) S« fiim fqurriea #i 3us faa e
W $HeaT B AT I 3Igewdl . ferg
wWad §9 ¥ S HE A Ukl 8,
Torerh fore 3wt e fora ram &t )

(3) wnit t B a1 Rumwes g fesh
Sifert o 3TE T |

(4) =afa foaes T gat= SRS gl
&S @ R AR BT Y U@ R I
3% frafRaER T |

(5) IFEIIG I
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47.

46. Consider the following statements

regarding the ‘Lawgiver’ mentioned

by Rousseau in the book ‘Social

Contract’.

Statement-I : The role of the
lawgiver is to remake men and
beginning with them as
individuals, he must transform
them into constituents of a
societal whole.

Statement-II Although the
lawgiver is not the central
figure in the establishment of
the state, he has an official role
in it, so he makes the laws.

Statement-III : Rousseau identifies
three outstanding lawgivers,
Lycurgus, Numa and Moses.

Which of the statement/s given

above is/are correct ?

(1) OnlyI (2) Only II

(3) Only IT & III (4) I, IT and III

(5) Question not attempted

According to John Locke’s writings
‘Second Treatise of Government’,
on which of the following occasions
can a government not be altered
legitimately ?

(1) When the Prince interferes in
the religious matters of the
people and  discriminates
against them on the basis of
religion.

(2) When the Prince hinderes the

legislature from assembling in

its due time or from acting
freely, pursuant to those ends
for which it was constituted.

The delivery of the people into

the subjection of foreign power,

either by the Prince or by the -

Legislature.

The person who had the

supreme executive power

neglected laws already enacted,
and could not be executed.

(5) Question not attempted

3)

4



48, et AEY GRT U T Rl A% g | 48. Consider the following statements

49.

e S # fRfad = 6t SEumn $ |

a3 frferfaa syl w fmm =t

FYA-1 : I T Teh 399 TS S A
FI U H HIE ETIHAT T&T
B |

HYA-11 ; HA9E AR A4 | THTT gH
$1 fRufy & ga =t g=iferd &
frg & &9 d =g Fi avEwal
Bt |

IR TR T A SR/ TE /2 ?

(1) *aa I

(2) I 11

(8) I3RII At

(4) FMIIRIADII

(5) SRR S

I B i ¥ Tl & ad #

Frefefaa wuai @ fomm Hifs -

() ‘Riftuew e Nfefewa seqmA’ o
et 1 e 2 6w qEiugl &
HIvT o) 1 w9 Ao faeran 2 |

(i) TorRfea e’ ° fire 3 w8 %
o # o Tefee sfer %
AR T ATUR &I 841 =T |

(iii) ‘€ oot 2ATH v’ A fret 3 sarn
6 aeft ant &t ot wm F7
it 7

F@Wﬁﬁ"{:

(1) = (iii) T 2 |

(2) = (i) 79 (i) T |

(3) et (i) T (iii) WE € |

(4) o (if) 7T (iii) TE 2 |

(5) I S
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49.

regarding the concept of justice as
discussed by Karl Marx in his book
‘Critique of the Gotha Programme’.

Statement-I A truly good
community would have no need
for the concept of Justice.

Statement-II : Under circumstances
of scarcity and conflict over goals,
there would be a need for justice
as a principle for operation of
society.

Which of the statement/s given
above is/are correct ?

(1) I only (2) II only
(3) BothI & II (4) Neither I nor IT
(5) Question not attempted

Consider the following statements
regarding the ideas of John Stuart
Mill :

(1) In the “Principles of Political
Economy’, Mill argued that women
received low wages because of the
prejudices of society.

(i) In the ‘Representative
Government’, Mill commented
that difference of sex could not
be the basis of political rights.

(1i1) In ‘The Subjection of Women’,
Mill explained how women of
all classes could find and keep
their jobs ?

Select the correct answer :

(1) Only (iii) is correct.

(2) Only (i) and (ii) are correct.

(3) Only (i) and (iii) are correct.

(4) Only (i1) and (iii) are correct.

(5) Question not attempted

98




50. S €1.37R. g & gy | Fefafea

51.

98

 (5) AR

YT W fear Hifvre 3 w1t sa g -
(A) TS Tl 5 39 fOER & QUi

wewd 8 o6 sfogm &1 fwion e
3R wifereh fom = R 2 |

(B) g o & 3w fomm @ qoi
gerd € % sfoem Faa onfis
HTeh! T B IO 2 |

(C) st A & fob Iraafaaes wifemt
zforere fmior 3 frefes e Bl |

TE IWE :
(1) Faet (A) TR | |
(2) e (A) 3T (B) FEI & |
(3) Faa (A) 3R (C) W& & |
(4) %5 (C) TE R |

g 1 3T & i AR B g A
w5 T i R e A o,
ﬁ@@@ﬂﬂmﬁf%mﬁmmqﬁ|
#H Thd |7 WG G H T B
P 3 & 76 e i & Safa ® 7 |
1) f& e feare '
2) f& smsfee o1 e R
(3) fe smefeaa it wHAfE
(4) A

(5) ST SR

bt T A TR Y s———
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50. Consider the following statements

51.

about  Dr. B.R. Ambedkar and
select the right answer :

(A) Ambedkar is fully agree with
of Buckle that
history was made by

the views

Geography and Physics.

(B) Ambedkar is fully agree with
Marx that history is the result
of economic factors only.

(C) Ambedkar has that
impersonal forces are the

in the

view

determining factors
creation of the history.
Correct statement/s is/are :
(1) Only (A) is correct.
(2) Only (A) and (B) are correct.
(3) Only (A) and (C) are correct.
(4) Only (C) is correct.
(5) Question not attempted

“The
have won by separating intellect

European revolution may

from soul and power from purity,
through
European power.” This statement
of Shri Aurobindo Ghosh is related

to which of his following writings ?
(1) The Life Divine

(2) The Ideal of Human Unity

(3) The Ideal of Karmayogin

(4) On The Veda

(5) Question not attempted

but we cannot win



52.

53.

54.

Frafeafea fagamt & @ e 1ol g
‘Sfies A% el : IR, 7a ws g
3t fedl’ & e 2 6 “gedi & Ufames
T T SRV 9% & % =9 & fonet oft @
A 391 81, F TSI F gt o1 S gt
2 3TR 37aq: 39 96 o & 9 foh STRIHR
T Jeu-fmiores ween 8.7

(1) aafgEeEm (2) T AR
(3) Bt STRITHIR (4) fery difere
(5) iFia S

18 wiepa # U e w1 Aiafifre
FTA T TSHIfereh el <! T8I «

(@) 39 T giYg

(ii) TgaTEl HEE el

(iii) FRmfoT Jrpreft gt

(iv) ZTees Tiged T, fersiel
ngmmngwaﬁq:

(1) %o (i) 7 (iii) ¥ E |

(2) Fae (i), (iii) 941 (iv) T 2 |

(8) e (iii) 7T (iv) T E |

(4) (), (i), (iil) 7o Gv) e w8 |

(5) 3rFaIa Fe

M HAE WA o e 6t guren

% Hh! ! TS & Gy H AAfeiaa §

T I 1 I TE &1 A JA A WraT @ 7

() Al Wifos THEG — GO &
T FHar | Faan

(i) sTed wifess TaEar — T & i
G |

(iii) STEQ SAreafarE gHEAT — Rwaed &
w9 J gHEET |

(iv) ATafes reaTfois JWHaT — gAY
% €9 § gHMT |

WWﬁ

(1) haet (i) 3R (id)

(2) e (id) 3R (i)

(3) hae (iii) 3R (iv)

(4) Sad (i) 3R (iv)

(5) IITTG 9%

52.

53.

54.

Who among the following scholars in
his/her book ‘Shield of Achilles : War,
Peace and the Course of History
stated that “The reason epochal wars
achieve, in retrospect, a historic
importance is because however they
may arise, they challenge and
ultimately change the basic structure
of the State, which is, after all, a
war-making institution ?”

(1) Martha Nussbaum

(2) Robert Heilbroner

(3) Mary Wollstonecraft

(4) Philip Bobbitt

(56) Question not attempted

Identify the political parties which
are represented by one member in
the 18th Lok Sabha :

(i) Asom Gana Parishad

(i) Nationalist Congress Party
(1i1) Shiromani Akali Dal

(iv) United People’s Party, Liberal
Select the correct answer using the codes :
Codes:

(1) Only (i) and (iii) are correct.

(2) Only (), (i) and (iv) are correct.
(3) Only (iii) and (iv) are correct.
(4) @), (ii), (ii1) and (iv) all are correct.
(5) Question not attempted

Which of the following pairs are

not correctly matched with respect

to the explanation of the

components of Ram Manohar

Lohia’s concept of equality ?

(i) Inner material equality -
equality ‘within a society’.

(i) Outer material equality -

. ‘equality within a state’.

(iii) Outer spiritual equality -
equality as kinship.

(iv) Inner spiritual equality -
equality as equanimity.

Choose the correct option :

(1) Only (i) and (ii)

(2) Only (ii) and (iii)

(3) Only (iii) and (iv)

(4) Only (i) and (iv)

(5) Question not attempted
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55.

56.

57.
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frfeRea fagari § @ fora o T 1%
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|
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55.

56.

57.

Who among the following scholars
argued that ‘caste groups instead of
crumbling with historical
embarrassment, in fact, adapted
themselves surprisingly well to the
demands of the parliamentary politics
andtheir participation in electoral
politics also transformed the structural
properties of caste in one fundamental
respect : it created a democracy of
castes in place of a hierarchy’ ?

(1) Suhas Palshikar

(2) Sudipta Kaviraj

(3) Surinder S. Jodhka

(4) Ghanshyam Shah

(5) Question not attempted

Consider the following statements :

Statement-I M.N. Srinivas
introduced the concept of
“Dominant Caste” to describe
castes that wield both economic
and political power despite not
always being at the top of the
caste hierarchy.

Statement-II : The rise of
dominant castes in rural India
was primarily due to their
access to modern education and
administrative positions under
colonial rule.

Choose the correct answer :

(1) Both I and II are correct.

(2) Both I and II are not correct.

(3) Only I is correct.

(4) Only II is correct.

(5) Question not attempted

Who' has described three types of
caste mobilization in India : vertical,
horizontal and differential ?

(1) “M.N. Srinivas

(2) Rudolph and Rudolph

(3) Myron Weiner

(4) Paul Brass

(5) Question not attempted
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58. Which of the following is not
correct regarding the ‘Shetkari
Sangathan’ ?

(1) It is a market oriented farmers
movement.

(2) It is organized under the
leadership of Sharad Joshi in
Maharashtra.

3) It demands competitive
capitalism in agriculture.

(4) It is totally against the
globalization.

(5) Question not attempted

59. Match List-I with List-II and select
the correct answer by using the

codes given below the lists :

List-I (New List-II (Detail)
Social
Movements)
A. Wada Na Todo (i) Kerala Sastra

Abhiyan Sahitya Parishad
led campaign to
stop the building
of a dam.

B. Silent Valley (i) Campaign
Movement against the
production and
marketing of
country liquor.

C. Chipko (iii) Campaign for
Movement Government
Accountability to
End Poverty.
D. Anti-Arrack (iv) Campaign against
Movement deforestation and
commercial
forestry.
Codes :
A B C D
(1) (i) )= 70 BHaw)
(2) () i) @@ @
(3) (i) v) @  GiD)
(4) (i) @) (iv) (@i)

(5) Question not attempted
98
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60.

61.

India and Sri Lanka enjoy a
vibrant and growing economic and
commercial partnership, which has
evolved through various economic
agreements. Which of the following
agreement is not in force between
the two countries ?

(1) The Economic and
Technology Co-operation
Agreement (ETCA)

(i) India-Sri Lanka Free Trade
Agreement (ISFTA)

(i1i) South Asian Free
Agreement (SAFTA)

(iv) Comprehensive
Partnership
(CEPA)

Choose the correct option :

(1) Only (1)

(2) Only () & (iv)

(3) Only (iv)

(4) Only (ii) & (iii)

(5) Question not attempted

Trade

Economic
Agreement

Which of the following statements
is NOT correct regarding the India-

Nepal Treaty of Peace and

Friendship, 1950 ?

(1) There are 20 Articles in the
Treaty.

(2) This Treaty shall remain in
force until it is terminated by
either party by giving one
year’s notice.

(8) The Treaty was signed on
31st July, 1950 in Kathmandu.

(4) Shri Chandreshwar Prasad
Narain Singh, Ambassador of
India in Nepal signed the
Treaty on behalf of India.

(5) Question not attempted
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63.

64.

gfeq F=iferd gemstt w faam Hifve -
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e 3T 1 T4 HIRT :

(1) @, (1), (i), @v)

(2) @), (D), (i), (1)

(3) (iid), (i1), (@), (iv)

(4) (i1, (), (1), @v)

(5) STTARA T

2020 ¥ ¢ ety & = gl ser@ i
Toa™ g1 | = gEds o faw wrdE
1 St wrferes 37 wmfes wfafsman ot —

(1) FTRIH 2rEee
(2) AT & AT
(3) HATRIH F =13
(4) FATNIH Fihe TR
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YRa-Aure wife 3R & @i, 1950 i
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R Fraef foady gferemd yem i € ¢
(1) a7
(2) a1 8
(8) &1 9
(4) &R 10

(5) Irgaia g
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63.

64.

which had occurred in the tenure

of Atal Bihari Vajpayee’s Prime

Ministership :

(1) Kargil War

(i1) Initiation of Delhi-Lahore bus
service

(iii) Pokhran Nuclear Test

(iv) Agra Summit

Arrange the above events

chronologically and select the

correct answer with the help of
codes given below :

(1) @), (i), (i), (iv)
(2) (iv), (i), (iid), (1)
(3) (), (1), (@), (v)
(4) (i), (@), (1), (@v)
(5) Question not attempted

The Indian Army’s strategic and
tactical response to the Chinese
intrusion in the Galwan Valley in
eastern Ladakh during the
escalated standoff in 2020, was —

(1) Operation Trident

(2) Operation Snow Leopard
(3) Operation Snow White
(4) Operation Safed Sagar
(5) Question not attempted.

In which of the following Section of
India-Nepal Peace and Friendship

Treaty of 1950, special facilities
related to traffic and trade have
been provided ?

(1) Section 7

(2) Section 8

(3) Section 9

(4) Section 10

(5) Question not attempted
98




65.

66.

67.

Ia F Mg ® e F e |
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2) @ fasm
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11 TTRET Tg%ed serferdq 3 fohan
3R AU T HI HS 1 WfafE
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TR TP I 8 AT qgrd]
3R 3T9ET Ugd § AR-T=IeH &dn
! qGHT T |

IRRETUHRA T TSI AT TS E ?

(1) FIALARI  (2) haat II 3R III

(3) Faet [T (4) I, IR III

(5) eI S
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65.

66.

67.

The first cross border petroleum
pipeline in South Asia connecting
Motihari in India to Amlekhgunj in
Nepal was completed in which year ?

(1) 2024 (2) 2022
(3) 2020 (4) 2019
(5) Question not attempted

In 2018, India’s Prime Minister

Narendra Modi compared which of

his  following  visions  with

‘Narrowing the Gap’ vision of Prime

Minister Lotay Tshering of Bhutan ?

(1) ‘Neighbourhood First’ policy

(2) ‘SAGAR’ vision

(3) ‘Together with all, development
for all’

(4) ‘Made in India’

(5) Question not attempted

With reference to the 18tk edition

of Battalion Level Joint Military

Exercise ‘SURYA KIRAN’, consider

the following statements :

Statement-I : This Exercise was
conducted in India from
24th February to 9th March, 2025.

Statement-II : The Indian Army
contingent was led by the 11th
Gorkha Rifles Battalion and
the Nepal Army contingent
was represented by the
Bhairavnath Battalion.

Statement-III The
Exercise was to
interoperability in  jungle
warfare, counter terrorism
operations in mountains, and
Humanitarian Assistance and
Disaster Relief under United
Nations Charter.

Which of the statements given

above are not correct ?

(1) OnlyI &II  (2) OnlyIl &III

3) OnlyI &III (4) L II &III

(5) Question not attempted

aim of
enhance



68.

69.

70.

'(3)mwmﬁmﬁaﬁé
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|

|

|

(1) esd@Id  (2) ITed AiEH
(3) aRtdest (4) st
(5) IR I
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68.

69.

70.

Which of the following statements

is not correct in the context to

Behaviouralism ?

(1) The term “Political behaviour”
was first used by Terence Ball
for the title of his book.

(2) David Easton has pointed out
that ‘Behaviouralism’ should
not be confused with

‘Behaviourism’ a psychological
concept  associated with J.B.
Watson.

(3) Behaviouralism could hardly
exercise any influence in
Canada where classical
political theory remained alive
in the works of C.B.
Macpherson and Christian
Bay.

(4) Sheldon Wolin accused

behavioural political scientists
of abdicating their true
“vocation” in their concern for
method.

(5) Question not attempted

“What constitutes ‘political’ in the
individual or group behaviour.”

Who has criticized behaviouralism
through above statement ?

(1) Leo Strauss (2) M.Q. Sibley
(3) Christian Bay (4) Eric Vogelin
(5) Question not attempted

Who among the following scholars
has criticized traditional political
science as “barren and formalistic-
animistic, sterile, ghost-ridden and
static” ?

(1) Harold Lasswell

(2) Charles Merriam

(3) Arthur Bentley

(4) Bertram Gross

(5) Question not attempted

98




11,

72.
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ITR-FagaE & s) § fr=fafes 4 4

PAATHAT TG TE R ?

(1) efaE =7 7 IH-FAERER F [
TIE U H A @ 3R IR
“grefireRar =1 fagra’ samr |

(2) SHIERETEAT gRI 33T T TR & SaTd I_ |

% o5 TTeta @9 Y gorn IRy B
N B, IT-AFg el I wiy-am
o f6 e B H ge #
IR &9 T T BT JER 2 |

(8) I-suaErEe fHasfier fasm &
T W 3 fagm Hr At € |

(4) S-FFTERAE TSGRl <t
e feamr 9|d & 6 awar &
e geut it wn & foe wgkm
TATE 1 3! forie 2 |

(5) 3T S

SERETE ¥ e § uite 3k e ¥

fFrafafgs st w femm Hifsw

HYA-1 : FIGRETE T GEFAM Grwarsdi d
gggdar & fau sfeet &I AEeAS
fFu TR waEada g | '

HYA-I1 : TR, THHAT TR Fadr S8
Tl i AT T H wifya e s

THhal 2, IECGC o BRI H
wiTfiret feman e =nfew |

e fameq =1 w394 HifSe :
(1) FFIWITH Ta 2 |
2 ST Al T E |
(8) FIASFYT [ TT R |

(4) FTAFHA (TR |

(5) 3T ¥

l 71.

72.

Which of the following statement

about post-behaviouralism is not

correct ?

(1) David Easton came out with
Seven major traits of post-
behaviouralism and described

them as the ‘Credo of
Relevance’.
(2) To the slogan raised by the

behaviouralists that it was
better to be vague than wrong,
the post-behaviouralists raised
the counter-slogan that it was
better to be non-relevantly
precise than vague.

The post-behaviouralists ask
for action science in place of
contemplative science.

The post-behaviouralists
wanted to remind the political
scientists that it was their
responsibility to do the best to
protect the humane values of
civilization.

(5) Question not attempted

3

4

Consider the following statements

of Somit and Tanenhaus with

reference to behaviouralism :

Statement-I : Behavioural creed
emphasizes that data should be
‘quantifiable’ in order to aid
predictive capabilities.

Statement-II : Values such as
democracy, equality and
freedom can be scientifically
established and should thus be
included in the methodology.

Select the correct option :

(1) Statements I and II both are true.

(2) Statements I and II both are false.

(3) Only statement II is true.

(4) Only statement I is true.

(5) Question not attempted



73.

74.

75.

frafafea § & fem gammeh 3 Toifa
fosm o = fagm & W oS
waiferes Sieared feam ?

(1) T o, 7

2) Hfe=h
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(3) S HEE

(4) &3S
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73.

74.

75.

Which of the following sociologists
gave utmost encouragement to the
use of system theory in Political
Science ?

(1) Robert K. Merton

(2) Colin Cherry

(3) Ludvig Von Bertlanffy
(4) Hence Gardner

(5) Question not attempted

Consider the following statements
regarding the David Easton’s
input-output analysis of Political
system :

(I) David Easton praised the
equilibrium analysis as
employed by sociologists on the
ground that it took into
account the variable capacity of
systems to cope with
environmental influences.

(IT) David Easton has given the
concept of systemic persistence
the central place in his
analysis.

Choose the correct option :

(1) Only (1) is correct.

(2) Only (II) is correct.

(3) (I) and (II) both are not correct.

(4) (I) and (II) both are correct.

(5) Question not attempted

Who among the following thinkers
has criticized the ‘Building block
theory’ of behaviouralists in his
book, ‘The Structure of Scientific
Revolutions’ ?

(1) David Weissman
(2) Thomas Kuhn

(3) Joseph Tanenhaus
(4) Heinz Eulau

(5) Question not attempted
98




76.

.

78.

98

frafafaa & @ feam 1956 & Wil
fo fedfiom ToE : q9 FIlw AT
G AT AT T § SaaeT-
ehRITcHehaT ol 3791 ITEY S fohar ?
(1) cehic ITEH

(2) Tes &Y. AHa

(3) sfasgwa

(4) T TR

(5) IrgaRa A

Torifees fampra W forTe amget & My

% IR, f=fled & @ $19 F Torifas

o & qm g ?

(A) gfifes @ STdg gg=™ | qiEd |

(B) UReiifres & 3afifza widl & Juar §
e |

(C) frrma i & 519 37K qiEr & g &
T e TEHTRTaT # gitEe |

el foepea o1 =91 Hifv

(1) %9 (A) @ (B) @& € |

(2) %9 (A) T (C) T2 |
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4) (A), B) @ (C) T2 |

(5) 3rFaid 57

fsae amve 3k 37 wgaifEt g
LEATHSH -SRI GBIV ! THHAH
fore fgu e =R gAge wrt § Frefafea @
¥ B G i TE 8 7

(1) Trrforeh TaTSieRtor 3R weff

(2) fea e

(3) Trm fireafa

(4) TrHifeas g9

(5) HFANE T
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76.

71.

78.

Who among the following
presented his version of system-
functionalism in the book titled
‘The Decision Process Seven
Categories of Functional Analysis’
published in 1956 ?

(1) Talcott Parsons

(2) Harold D. Lasswell

(3) David Easton

(4) Robert Dahl

(5) Question not attempted .

Which of the following are the part

of political development according

to Leonard Binder’s thesis on
political development ?

(A) Change of identity
religious to ethnic.

(B) Change of legitimacy from
transcendental to immanent
sources.

(C) Change in political
participation from elite to mass
and from family to group.

Choose the correct option :

(1) Only (A) and (B) are correct.

(2) Only (A) and (C) are correct.

(3) Only (B) and (C) are correct.

(4) (A), (B) and (C) are correct.

(5) Question not attempted

from

Which of the following is not

included in four input functions as

given by Gabriel Almond and his

associates to explain  their

structural-functional approach ?

(1) Political socialization and
recruitment

(2) Interest aggregation

(3) Rule articulation

(4) Political communication

(5) Question not attempted



79.

80.

81.

frafefes & @ e o fean % amue
3Rt grT g3 TS Torfs HEp Al
TEAIATS [qTeNvTe & S9N JUHTCHS
AMeel W Imaiia g, feet off S
Frator & frifor 7 et @ 3 safon
I8 T-sarearens 3R -l 2 7

(1) faform il
(2) S $w

(3) Ve e

(4) & g=q ifea
(5) 3T A

fafafad 4 @ frg R 6 teHifas

IUEEHf Y TgEH S TATIR gRT T8
TR ?

(1) HgHad G&pia
(2) =fFmETd wepfa
(3) Afcrharae} Fplet
(4) AT FEpfd
(5) IrFARa S

frafafes & @ 58 =R w8 3
Terifaes faema 6 femm d ugen Hw
qAIR ?

(1) <o 3 fovam

(2) UFalg W IUNG  TH-FT&T
(H-RE) = fowE

(3) Tava-T=y sHaee W gaemfa
(4) YTETE T YUid: T
(5) 3T A

79. Who among the following argued

80.

81.

that the typology of political
culture suggested by Almond and
Verba
rather than analytic criteria, does
not

is based on descriptive

employ any theoretical
construct, and therefore is non-
explanatory and non-predictive ?
(1) William Bostock

(2) David Easton

(3) Robert Dahl

(4) Mary Toombs Waddill

(56) Question not attempted

Which one of the following types of
the political subcultures is not
identified by Daniel Elazar ?

(1) Consensual culture

(2) Individualistic culture
(3) Moralistic culture

(4) Traditionalistic culture
(5) Question not attempted

Lucian Pye has considered which

of the following as the ‘first step

towards political development’ ?

(1) Belief in democracy

(2) Evolution of state system based
on nationalism (Nation-State)

(3) Consensus on World-State

system
(4) Complete  renunciation  of
traditionalism

(5) Question not attempted
98




82.

83.

84.

98

o faumEsT gE-2023 # Afgen
e S (TRee 9eeE hI BIg )
fepaam e ?

(1) 68.26%
(3) 74.70%

(5) IFFaNd I

(2) 70.16%
(4) 75.02%

THAT 3R T T T T FEHTieT %
e g R fFmg 7

(1) wrehditeh 3R ARARHaT

(2) e 3R The

(3) W 3R SAfea
(4) I8 37 3798
(5) ST A
geft-1 9 gei-11 1 frem it sk =
fou T el Y TEEA ¥ L IR BT T
i
g1 -1
(Farter o) (33TE)

(2) THel FeEE SgHd ()
BRI |

(b) Sehfcdres wd yomrett  (ii) &for it

(c) Taf¥a we=
JTaTcss STt

(d) a3 wee
TEEETS JUTTe!

(iif) referam

L
(a)
(1) ()
(2 Gv)

(b) (o)
(i) (@v)
(i) (i)
3) @) Gi) @
@ Gv) @) @
(5) 3T ¥

(d)
6]
@
(iv)
(ii)

82. What was the women voting
percentage  (Excluding  Postal
Ballots) in Rajasthan Assembly
Election — 2023 ?

(1) 68.26% (2) 70.16%
(3) 74.70% (4) 75.02%
(5) Question not attempted

Ekman and Amna have
distinguished between which two
kinds of political participation ?

83.

(1) Democratic and Totalitarian
(2) Latent and Manifest

(3) Simple and Complex

(4) Clear and Unclear

(5) Question not attempted

84. Match List-I with List-II and select
the correct answer by using the
codes given below :

List-I List-1I
(Electoral System) (Examples)

(a) Single member (i) Hungary
plurality system '

(b) Alternative Vote (i) South
System Korea

} (¢) Mixed member (ii1) Australia
! proportional system
i (d) Mixed member (iv) Nigeria
‘ majoritarian system
| Codes:
| (@ () () (@
| @@ G @ O
| @a @) @ O
e @ @ o
g @ Gv) Gi) @ (@)
(5) Question not attempted
37 =]
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85.

86.

Who among the following scholar
defines civil society as a web of
autonomous associations
independent of the state which,
bound together in matters of
common concern by mere existence
or action, could have an effect on
public policy ?

(1) Jiirgen Habermas

(2) Charles Taylor

(3) Antonio Gramsci

(4) John Dewey

(5) Question not attempted

Consider the following statements
regarding voting behaviour in India :
@

The anti-incumbency factor
has come to play a major role

in determining election
results in India.
(II) Democratic upsurge of

socially marginalized sectors
of society, increased caste and
community mobilization,
leading to the mushroom
growth of local and state
political parties.

(IIT) Voters turnout in India is
uniform and tends to be not
affected by a variety of
demographic and
socioeconomic factors.

Choose the correct option :

(1) Only (I) and (II) are correct.

(2) Only (II) and (III) are correct.

(3) Only (I) is correct.

(4) (I), (I) and (IIT) all are correct.

(6) Question not attempted
98
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90.
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87.

88.

89.

90.

39

Regarding his bargaining theory of
international relations, Thomas C.
Shelling designated his formulations
in number of ways except :

(1) Limited adversary relationship

(2) Precarious partnership

(3) Incomplete antagonism

(4) Independent decisions

(5) Question not attempted

Which approach is criticized for
offering a ‘state-centric’, ‘state-as-
actor’ or a ‘billiard-ball model’ of
international relations ?

(1) Communication approach

(2) Decision-making approach

(3) Linkage approach

(4) Integration approach

(5) Question not attempted

Which of the following leader’s
statement during Second World
War — “We shall fight on the
beaches, we shall fight on the
landing grounds, we shall fight in
the fields and in the streets, we
shall fight in the hills; we shall
never surrender’ — emphasizes the
role of national character as a
crucial element of national power ?
(1) Franklin D. Roosevelt

(2) Winston Churchill

(3) Dwight D. Eisenhower

(4) Charles de Gaulle

(5) Question not attempted

Which of the following has not
been considered as the dimension
of structural power within the
International Political Economy
(IPE) by Susan Strange in her
famous book ‘States and Markets’ ?
(1) The Security Structure
(2) The Production Structure
(3) The Knowledge Structure
(4) The Demographic Structure
(5) Question not attempted
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91. As an economic instrument for the

promotion of national interest,

which of the following statement

about cartels is not correct ?

(1) Cartels foster wars by dividing
loyalties and creating a profit
interest that rises above
patriotism.

(2) Cartels deprive a state of vital
war materials by their
restrictions on production and
distribution.

(3) Cartels can be instruments of
espionage and sabotage by
transmitting scientific
information to potential enemies.

(4) Cartels are not utilized by
totalitarian states.

(5) Question not attempted

Read the following statements
carefully regarding the United
Nations :

I. The process of suspension of
the member country is not
described in the Charter of the
United Nations.

II. But any member can abandon
membership using the process
described in the Charter.

Choose the correct option :

(1) 1Iis true, II is false.

(2) 1is false, II is true.

(3) I and II both are true.

(4) I and II both are false.

(5) Question not attempted -

Who among the following thinkers
stated that “The concept of
national interest is vague to the
point of being meaningless or even
a Pseudo-theory” ?

(1) Hans J. Morgenthau

(2) Raymond Aron

(3) Norman D. Palmer

(4) Veron Van Dyke

(5) Question not attempted
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94.

95.

96.

Which of the following pairs
showing the member-state and the
year of its entry into the European
Union (EU) is correct ?

EU Member-  Year of Entry
State into EU
(1) Bulgaria - 2007
(2) Cyprus - 2013
(8) Croatia - 2004
(4) Estonia — 2009

(5) Question not attempted

Which of the following is not
correct regarding European Union
(EU) ?

(1) The European Commission
serves as EU’s executive.

(2) The council of the European
Union represents the National
Government.

(8) Twenty EU member states use
a common currency.

(4) Twenty EU members
participate in the Schengen
area of free movement in which
internal border controls have
been eliminated.

(5) Question not attempted

Which. of the following statements is

not correct regarding the United

Nations Peacebuilding Commission ?

(1) It ©i1s an intergovernmental
advisory body that supports
peace efforts in conflict-affected
countries.

(2) It was established in December
2010.

(38) It is composed of 31 Member

States, elected from the

General Assembly, the Security

Council, and the Economic and

Social Council.

The top financial contributing

countries and the top troop-

contributing countries to the

United Nations System are

also its members.

(5) Question not attempted

(4)
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Which of the following pairs
regarding the South Asian
Association for Regional Co-operation
(SAARC) is not correct ?

(1) The 34 SAARC Summit in 1987
— Kathmandu

(2) SAARC Regional Convention
on suppression of Terrorism

— 1987
(3) SAARC Convention on Narcotic
Drugs and Psychotropic

Substances — 1990

(4) The 4t SAARC Summit in 1988
— Colombo

(5) Question not attempted

Consider the following statements
about Association of South East
Asian Nations (ASEAN) :

(I) The first members of ASEAN
in 1967 were Indonesia,
Malaysia, Singapore, Thailand
and the Philippines.

(II) Members of ASEAN were
divided on the issue of China.
At the United Nations in 1970,
Philippines and Indonesia had
voted to give the Chinese seat
in the Security Council to the
communist regime in Beijing,
but Malaysia and Thailand had
voted against it. Singapore had
abstained.

Choose the correct option :
(1) Only (I) is correct.
(2) Only (II) is correct.
(3) Both (I) and (II) are correct.
(4) Neither (I) nor (II) is correct.
(5) Question not attempted
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Who attended the 19t Non-
Alignment Summit from India ?

(1) Narendra Modi

(2) Draupadi Murmu

(3) S.Jaishankar

(4) Jagdeep Dhankhar

(5) Question not attempted

Which one of the following is an

example of synchronous
communication ?

(1) e-mail

(2) Blogs

(3) Skype conversation
(4) Hypertext document
(5) Question not attempted

Which model of teaching is designed
to develop inductive reasoning ?

(1) Concept attainment model
(2) Advance organizer model
(8) Inquiry training model

(4) Synectics model

(5) Question not attempted

Which of the following

organization is not observer of

Non-Alignment Movement ?

(1) Commonwealth Secretariat

(2) Hostosian National
Independence Movement

(38) South Centre

(4) Holy See

(5) Question not attempted
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I 103. Which one of the following pair is

104.

105.

106.

correctly matched ?

(1) Puppet — Two
- dimensional aids.
(2) Specimen - Three
dimensional aids
(3) Chart — Three

dimensional aids
(4) Pictograph — Three

dimensional aids
(5) Question not attempted

According to David & Roger
Johnson, which one of the following
i1s an element of cooperative
learning group ?

(1) Independence

(2) Group accountability

(3) Promotive interaction

(4) Individual processing

(5) Question not attempted

Which one of the following is full

form of ICT ?

(1) Information Communication
Technology

(2) Information and
Communication Technology

(3) Information, Communication
and Technology

(4) Information Communicational
Technology

(5) Question not attempted

Which one of the following belongs
to family of Information Processing
Model ?

(1) Scientific Inquiry Model

(2) Social Inquiry Model

(3) Structured-Social Inquiry Model
(4) Jurisprudential Inquiry Model
(5) Question not attempted
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107.

1080

109.

110.

The process by which information
about the functioning of a system
is communicated back to the
system, so that corrections and
adjustment may be made, is called :

(1) Feedback

(2) Analysis

(3) Equilibrium

(4) Homeostasis

(5) Question not attempted

Which of the following is not a mode
of computer assisted learning ?

(1) Informational Instruction

(2) Modelling

(3) Tutorial

(4) Drill and Practice

(5) Question not attempted

Which of the following paradigm
stresses active knowledge,
manipulation and hypothesis testing
in computer assisted learning ?

(1) Revelatory paradigm

(2) Conjectural paradigm

(8) Emancipatory paradigm

(4) Instructional paradigm

(5) Question not attempted

When e-learning is combined with
traditional classroom practices, it
is known as —

(1) Distance learning

(2) Blended learning

(3) Integrative learning
(4) Active learning

(5) Question not attempted
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111.

Consider the following statements
regarding Eric Vogelin’s ideas on
political theory :

(A) Vogelin regards political
science and political theory as
separable and that one is

possible without the other.

 (B) Political theory is not ideology,

112,

scientific
an

utopia
methodology but
experiential science of the right
order in both the individual
and the society.

or

Choose the correct answer from

' options given below :

(1) Only (A) is correct.

'(2) Only (B) is correct.

(3) (A) and (B) both are correct.
(4) Neither (A) nor (B) is correct.
(5) Question not attempted

Who among the following thinkers
are associated with the concept of
‘Structuralism’ ?

(A) C. Levi-Strauss

(B) Louis Pierre Althusser

(C) Ferdinand de Saussure
Choose the correct option :

(1) Only (A) and (B) are correct.
(2) Only (A) and (C) are correct.
(3) Only (B) and (C) are correct.
(4) (A), (B) and (C) are correct.

(5) Question not attempted
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113.

114.

115.

Examine the following statements

regarding ‘Logical Positivism’ :

(I) The Vienna circle played an
important role in transforming
logical positivism into a
movement.

(II) Logical positivism rejects the
knowledge contained in
metaphysics.

Which of the above statement/s

is/are correct ?

(1) Only (I) is correct.

(2) (@) and (IT) both are correct.

(3) Only (II) is correct.

(4) (I) and (IT) both are incorrect.

(5) Question not attempted

Who among the following is the
main protagonist of the theory of
‘Logical Atomism’ ?

(1) C.S. Peirce

(2) John Plamentaz

(3) Bertrand Russell

(4) Sheldon Wolin

(5) Question not attempted

Consider the following statements
regarding Michael Oakeshott :

(I) Oakeshott views conservatism,
traditionalism and uniformity
and continuity in behaviour in
politics with a skeptical view.

(II) Oakeshott does not distinguish
between subject and object, fact
and value.

Select the correct option.
(1) Only (I) is correct.
(2) Only (II) is correct.
(3) Both (I) and (II) are correct.
(4) Neither (I) nor (II) is correct.
(5) Question not attempted
=]
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118.

Consider the following statements

regarding rights :
(I) H.L.A. Hart distinguishes special
rights from general rights.

(II) According to N. Maccormick,
rights ‘always and necessarily
concern human goods.’

(III) H.J. Mccloskey describes rights
positively, as entitlements, to
do, have, enjoy or have done.

Select the correct answer using the

codes :

Codes:

(1) Only (III) is correct.

(2) Only (I) and (II) are correct.

(3) Only (II) and (III) are correct.

(4) (D, (II), (III) are correct.

(5) Question not attempted

Who among the following scholars
in his book ‘The Morality of
Freedom’ asserted that liberty
should be understood not in value
free terms as the mere absence of
constrains or coercion, but rather
as a means to the pursuit of
valuable goals ?

(1) Alasdair Maclntyre

(2) Josep Raz

(3) Charles Taylor

(4) H.L.A. Hart

(5) Question not attempted

Who among the following scholars
argued that only the traditional
negative rights are the genuine
universal human rights and the
Universal Declaration of Human
Rights has made a mistake by
incorporating economic rights for
they are ideals, not universally
realizable ?
(1) M. Cranston (2) R. Dworkin
(38) John Locke (4) A. Gewirth
(5) Question not attempted
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119. Who among the following scholar

120,

stated that ‘The end of the law is,
not to abolish or restrain, but to

preserve and enlarge freedom’ ?
(1) Thomas Hobbes

(2) John Locke

(3) Jean-Jacques Rousseau

(4) Jeremy Bentham

(5) Question not attempted

Consider the following statements
regarding Isaiah Berlin’s views on
liberty :

(I) According to Berlin, negative
is the
opportunity to act, not action

itself.

liberty as freedom

(II) Positive liberty includes the

idea of self-mastery where the
higher self is in command of

the lower self.

(III) Political liberty belongs only
to the sphere of positive
liberty.

Choose the correct option.

(1) Only (I) and (II) are correct.

(2) Only (I) and (III) are correct.

(3) Only (II) and (III) are correct.

(4) (I, (II) and (III) all are correct.

(5) Question not attempted
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122.

Consider the following statements
regarding Robert Nozick’s views on
equality :

(I) He rejected absolutely the idea
that there is a moral basis for
redistributing wealth in the
name of equality.

(II)In  his = view, end-state
principles are relevant to the
distribution of rewards.

Which statement/s given above

is/are correct ?

(1) Only statement (I) is correct.

(2) Only statement (II) is correct.

(3) Both statements (I) and (II) are
correct.

(4) Neither statement (I) nor (II) is
correct.

(5) Question not attempted

Consider the following statements
about ‘Theory of Complex equality’
of Michael Walzer :

(A) It brings out the plurality of
meanings assigned to ‘goods’
and ‘areas of social life’ in
different cultures making
universal principle for equality
almost an impossibility. Thus
his conceptualization is against
Rawlsian notion of ‘primary
good’.

(B) Walzer asserts that there is no
single correct distributive rule
for the distribution of eleven
Basic goods.

(C) According to Walzer, there is
one social good for each sphere
or one sphere for each good.

Choose the correct answer from

options given below :

(1) Only (A) and (B) are correct.

(2) Only (A) and (C) are correct.

(3) Only (B) and (C) are correct.

(4) (A), (B) and (C) are correct.

(5) Question not attempted
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124.

Which of the following thinkers

have advocated the ‘Cosmopolitan

Approach to Global Justice’ ?

(A) Brian Bary

(B) Charles Betiz

(C) Thomas Pogge

(D) Hillel Steiner

(E) Charles Jones

Choose the correct answer from

options given below :

(1) Only (A), (B), (C) and (D) are
correct.

(2) Only (A), (C), (D) and (E) are
correct.

(3) Only (A), (B), (D) and (E) are

correct.

4) A), B), (C), (D) and (E) are
correct.

(5) Question not attempted

Which of the following are the

main forms of formal equality

according to Louis Pojman ?

(I) Aristotle’s notions of formal
equality (equality before law)

(II) Consideration of interest

equality (equal consideration

like John Rawl’s procedural

equality)

(IIT) The presumption of equality
(cannot be treated unequally
unless a reason is found)

(IV) Value driven equality
(equality of autonomy and
dignity)

(V) Moral equality (every person
is equally a moral agent.)
Choose the correct answer from

options given below :
(1) Only (I), (II), (III) and (IV) are
correct.

(2) Only (II), (I1II), V) and (V) are

correct.

(3) Only (I), dI), (IIT) and (V) are

correct.

4) (), dn, (II), dV) and (V) are

~ correct.
(5) Question not attempted
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In which of the following cases, the

Supreme Court of India has

delivered a decision that

acquisition by the state of a place

of worship — temple, mosque or

church — cannot be said to be

against secularism ?

(1) Dr. M. Ismail Faruqui versus
Union of India, 1995

(2) M.P. Gopalakrishnan Nair
versus State of Kerala, 2005

(3) S.P. Mittal versus Union of
India, 1983

(4) S.R. Bommai versus Union of
India, 1994

(5) Question not attempted

In which of the following sessions
of the Constituent Assembly of
India, its members decided to
reduce their allowances ?

(1) Eighth (2) Ninth

(3) Tenth (4) Eleventh

(56) Question not attempted

Examine the facts regarding

Indian secularism :

(I) Indian secularism focuses

simultaneously on inter and

intra religious supremacy.

Indian secularism is not only

related to the religious freedom

of individuals but also to the
freedom of minorities.

(III) Indian secularism has the
scope and compatibility for
state-sponsored religious
reforms.

Which of the above fact/s is/are

correct ?

(1) Only (I) is correct.

(2) Only (I) and (II) are correct.

(3) (I), (II) and (III) are correct.

(4) Only (I) and (III) are correct.

(5) Question not attempted
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et -1
GIERIEENIEEY)
a. Gfeum (Th @@
THAT  HEIE)
Jrferfem, 2016
b. Gfeym (T &

Qe wEE)

arfufem, 2018
c. GfauH (T &t
fat  we)
Afrfaem, 2019
d. dfeem (T @t
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128. Match List — I with List — IT and

select the correct answer using the

code given below :
List -1
(The

Constitution
Amendment)

a. The Constitu- i.

tion (One
Hundred and
First
Amendment)
Act, 2016

b. The Constitu- ii.

tion (One
Hundred and
Second
Amendment)
Act, 2018

List - II
(Provision)

Constitutional
status to
National
Commission
for Backward
Classes

Introduce the
Goods and
Services Tax

¢. The Constitu- iii. Abolished

tion (One
Hundred and
Third
amendment)
Act, 2019

reservation
for the Anglo-
Indian
community

d. The Constitu- iv. Reservation

tion (One
Hundred and
- Fourth
Amendment)
Act, 2019

for
Economically
Weaker
Sections

Choose the correct option :

a-:b c
(1) v il
)i v 5
(8) 1 v
4) ii 1.5 2RV

d
i
G
il

(5) Question not attempted



129.

130.

131.

YR % dfqus & = § @ 9 @

FTEDE GHE HI GWE wWl o HEW

R B FS Hifewh HUHR JGH A

F FHT ARHL AR ?

(1) 3T=\e 32  (2) 31T=¢ 33

(3) Iq=BE 34  (4) T=<E 35

(5) 3TIARA T

WG & |99 & 3w 17 § T=Efa

Frafefaa st w femm fifsne -

(A) I 17 F g 9F F Tgq A
T TN A §C GEG G TR
(3rqay) rfufm, 1955 wii@ fman
T |

(B) 1977 & 3&eh1 A ufEfid X fafae
(FrTen) iR g ififem =

- femmm

(C) 3g=de 17 H U wEg I
Iggfa sfa ot srgfea SHeta
(=R fFawr) rfafem, 1989
aria fopa |

= e 7 famedl § @ 9t IW F1 I

Hifse ;

(1) ¥ (A) & (B) @&l |

(2) 3 (A) W (C) T T |

(3) %aw (B) W (C) T & |

4) (A),( B)TW (C)wEIE |

(5) ITFET ST

16 fegey, 1946 + W TEE W

TEYT TG A A G GG

FHEBAY ?

(1) Sf. TH.3TR. S¥H

(2) . sfima 3ega

(8) #ft i merh

(4) 1. v YEIE q@st

(5) 3T ST

129.

130.

131.

Which of the following Article of
the Constitution of India empowers
the Parliament not to grant some
of the fundamental rights to the
persons employed in the armed
forces ?

(1) Article 32 (2) Article 33

(3) Article 34 (4) Article 35

(5) Question not attempted

Consider the following statements
about Article 17 of the Constitution
of India :

(A) In exercise of power under the
second part of Article 17, The
Untouchability (Offences) Act,
1955 was passed by the
Parliament.

(B) It was renamed in 1977 as the
Protection of Civil Rights Act.

(C) To further ensure adherence to
the mandate of Article 17,
Parliament passed the
Scheduled Castes and Scheduled
Tribes (Prevention of Atrocities)
Act, 1989.

Choose the correct answer from

options given below :

(1) Only (A) and (B) are correct.

(2) Only (A) and (C) are correct.

(3) Only (B) and (C) are correct.

(4) (A), (B) and (C) are correct.

(5) Question not attempted

Who was the member of
Constituent Assembly, who first
presented the amendment to

the objective resolution on 16th
December, 1946 ?

(1) Dr. M.R. Jaykar

(2) Dr. Bheem Rao Ambedkar

(3) Shri Meenu Masani

(4) Dr. Shyama Prasad Mukherjee

(5) Question not attempted
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133.

TR 9 I forgHT grT TmeRtor & aweu
7 freferiea gmi W feem Hif -
TR fgm s am
I FTs-uEE - .. /W
() TEES THAs - IHfed AfRA
- oS T
e T
(III) Tar= 94 — %. GYH
Sude o | T I 61 999 HINT |

(1) =« () 3R AD T € |
(2) sere (IT) 3R (111 & € |
(3) et (I) 3R (II1) ¥ & |
4) @, an, A1 € |

(5) IR T

I dfqum & s frus o=l @
iR fafafes 3 @ 5 =g &
e 3 HEe ¥ TP arfier Aser TR
wrfafiem, 2005 wifta foman 2

(1) 3TTRT 40 T& 42

(2) IT=d¢ 39 T 41

(3) 3T=WE 39 WH 46

(4) T=BE 47 TH 48

(5) FART A

Tt T e A, L. AR PR iR S TP B PSS 3 L —— AT
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132.

133.

the

regarding Nomenclature to the

Consider following pairs

Indian Federation by Scholars :

- Nomenclature Name of the
Scholar

(I) Quasi-federal —K.C.Wheare
(II) Federal state — Granville

with subsidiary Austin
unitary features

(III) Paramountcy — K. Santhanam

federation

Choose the correct pair given above.
(1) Only (I) and (II) are correct.
(2 Only ({I) and (II)

correct.
(3) Only (I) and (III) are correct.
(4) (@), (I), (III) are correct.
(6) Question not attempted

are

In pursuance of which of the
following articles related to the

Directive  Principles of the
Constitution of India, the
Parliament has passed the
National @ Rural = Employment
Guarantee Act, 2005 ?
(1) Article 40 and 42
(2) Article 39 and 41
(3) Article 39 and 46
(4) Article 47 and 48
(56) Question not attempted

, (= |



184, YR & Gfag™ & TsA & gy § faey |

135.

Uy & ged 7 e fer T adt wis W
ITINT b Gt — I (3F=e) Bl gt — 11
(U9 <1 ) o |1 gAfera i :
-1 - 11
@R F1 IR (T W)
a. 371% i. AP
b. 3717 i, YW
c. 3719 iii. JATvE
d. 3718 iv. fieim
S
a b c d
MDive i 04
@) 8- i Ty
@) iL i iv i
@iiv: e
(5) g e
A o HIGITH & TTad e Ihl TR
% FTaS[g YR 6 T e § U WS

TEger g @ R fR-dR 3w 6
Ig-ufl wmEen W e fafiw
g FEHI TEaTg | aRafad #X fe
2, 39 IREeTT & s SR 8
(A) 1991 T RN g5 s guw fskanm 3
efoER % IR,
oM & AR B 3R 3R fos
F TSI TR & T Siars 6t sies
AT ] 9 e R |

(B) ¥ Tl % T 1 3 &R I |

STl ST Set ST 367 3T T3a-4
TSifer o T 73 T % 3¢ o WRA
T S TS IS WUIEl! i gRafd
g |

D c o e e

$ifore

(1) e (A) T2 |

(2) %t (B) @El R |

(3) (A) IR B) A TL & |
(4) IR A) IRTIAB® T2 |
(5) TN T
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134. Regarding special provision with

135.

respect to the states in the
Constitution of India, match List — I
(Article) with List — II (Name of
the State) by using the correct code
given below :

List-1 List-1I
(Article of the (Name of the
Constitution) State)

a. 371A i. Manipur
b. 871C ii. Andhra
Pradesh

¢ 871D iii. Nagaland
d.-371 G iv. Mizoram
Codes:

& b c.d
Qe a0
124 0 ) i s ot v e -
o) g b e St
() 1v: hiien

(56) Question not attempted

Despite the Indian Constitution’s
strong centralizing bias, the Indian
Federal System has undergone a
major rebalancing that has
gradually transformed the Indian
quasi-federal system into more
distinctly multilevel cooperative
federalism, the reasons behind this
phenomenon are —

(A) The economic reforms process
that began in 1991 has led to
liberalization of the economy,
a weakening of centralized
planning, a greater freedom of
action for state governments
in economic development.

The end of the Congress Party
dominance, the rise of regional
and caste based parties, and
the emergence of a new era of
coalition politics have lead to a
transformation of India’s one
party dominant party system.
Choose the correct answer from
options given below :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Neither (A) nor (B) is correct.
(5) Question not attempted

(B)
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136.

137.

138.
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A % iU % ITeHE 253 & A=
ST UL Y el S % fere fram
¥ ffaRes & @ #F #@ vsgEet
gftfea & g ¢
(1) wfy

(3) g
(5) gaRa A

Tyafy % fratem @ wafRa fefalea

mq"mﬁanﬁﬁm:

(1) Tgafy & frafew & dowa oft fyamd
w1 fafee Rty et s g
e s 3R g ot arfm
Ul

(IT) Tufe % Fratem #t 3@ fafftaa F@
T Fateesor & gew o foemm et
fiffd & uR W e fHE S
Hhar g |

I 3 & e T e iR

(1) S HeE () T2 | '

(2) FaAHH () T2 |

(3) F (1) 3R () SHI el 2 |

(4) TR HEE @) IRAE A TR |

(2) N
(4) T

(5) JATANG TH

yRg § ot 7@ 9@ Ty @

THRIA TTeld W 6l T8 ity

(ferae =61 ™) (e =)

(1) 9T e 9 — SAfeI IR
EEI FTHTT

(2) HEME WA — 3t 3R
fomrg BRI

(3) oo @R — T AR
E 1R G| aftrerTg

(4) et WS — YN IR
Teal FACH

(5) ITFENG T

S ————e PR Y

136.

137.

'138.

57

Under the Article 253 of the
Constitution of India, Legislation
for giving effect to international
agreements, which of the following
terminology is not included in it ?
(1) Treaty (2) Convention
(3) Accord (4) Agreement
(5) Question not attempted

Consider the following statements
regarding the election of the
President :

(I) All disputes in connection with
the election of the President
shall be decided by the Election
Commission of India whose
decision shall be final.

(IT) The election of the President can
be called in question on the
ground of the existence of any
vacancy among the members of
the electoral college electing him.

Choose» the correct statement/s

given above : :

(1) Only statement (I) is correct.

(2) Only statement (II) is correct.

(3) Both statements (I) and (II) are
correct.

(4) Neither statement (I) nor (II) is
correct. -

(5) Question not attempted

Identify’ the incorrect pair
regarding Inter-State river water
disputes in India :

(Name of (Related
~dispute) States)

- (1) Vansadhara — Odisha and
river water Andhra
dispute Pradesh

(2) Mahanadi - Odisha and
water Chhattisgarh
dispute

(3) Mulla — Kerala and
‘Periyar dam =~ Tamil Nadu
issue

(4) Babhali — Andhra
barrage Pradesh and
issue Karnataka

(5) Question not attempted
= |



139. 68T H Hed & a1 ¥ gEfRg

140

Traferfaa el w fomm Hifve

@) v AHENT § e % Aa1 & ®9
T o war & e =% 99 98
TNHEHT T G TR AT R |

(I1) I8 Tur & 2 o6 9 dAipesn w193
I @1 8 3 T 1 91 o 95
T AT & dl AhauTes ged
& a1 & Wl K Arena i fouw &

a1 1 giua et @ % B e |

dWeT F I H T A wE w4,
AP 3@ gy § Hed H @i
3NTiees Hor 7 Y ST R |

HE I P =41 HIfoT

(1) 5 (1) wEi 2 |

(2) et (ID) 9 2 |

() @IRAD AT T E |

@ FRDOIRA) TR |

(5) 3raRa g

. IRA & Hfeum F Igese 75 4 giRa

Frafefaa semt w famm Hiftr

@ it yuEEEt % yERwE o U
Crukull

(1) wif3-vtwg Hag & s amfess w0 @
SeRerRf gt |

sqgﬁﬁﬁaéwq/mwwﬁﬁq

(1) I () TR |

(2) ¥ (D) | R |

(3) (T) 3 (A1) eI Wt & |

@ FIAOAAAD FER |

(5) Faa e

139. Consider the following statements

140.

regarding the Leader of the House

in Lok Sabha :

() The Prime Minister functlons
as the Leader of the House in
Lok Sabha except when he is
not a member of Lok Sabha.

(II) It has been practice that
during the protracted absence
of the Leader of the House
when Lok Sabha is in session,
the Speaker of the Lok Sabha
in consultation with the
former, intimates to the leader
of the opposition in the Lok
Sabha as to who would act as a
Leader of the House, but no
formal announcement in this
regard is made in the House.

Choose the correct answer :

(1) Only (I) is correct.

(2) Only (II) is correct.

(3) Both (I) and (II) are correct.

(4) Neither (I) nor (II) is correct.

(5) Question not attempted

Consider the following statements
regarding Article 75 of the
Constitution of India :

(I) The ministers shall hold office
during the pleasure of the
Prime Minister.

(IT) The Council of Ministers shall
be collectively responsible to
the Parliament.

Choose the correct statement/s
given above :

(1) Only () is correct.

(2) Only (II) is correct.

(3) Both (I) and (II) are correct.
(4) Neither (I) nor (I) is correct.

(5) Question not attempted
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(1) ae (I) 3R (ID)
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141.

142.

Consider the following pairs :
(Provision in the (Related
Constitution of Article)
India)
Supreme — Article 127
Court to be a
Court of record
Review of
judgements by
the Supreme
Court
Law declared
by Supreme
Court to be
binding on all
Courts
Which of the above pairs are
correctly matched ?
(1) Only () and (II)
(2) Only (I) and (III)
(3) Only (II) and (I1I)
4) (), (1) and (III)
(5) Question not attempted

@

15 — Article 137

(I11) — Article 141

Consider the following statements

regarding Union Budget of India :

(A) No discussion of the Budget
takes place on the day it is
presented to the Lok Sabha.

(B) After the Budget has been
presented, the Speaker of the
Lok Sabha may appoint a day
for the commencement of its
discussion which continues for
such time as the Speaker of the

Lok Sabha may allot.
(C) The Speaker of the Lok Sabha
in consultation with the

Finance Minister, may allot so
many days as many as may be
compatible with the public
interest for the discussion and
voting of demands and grants.

Choose the correct answer from

options given below :

(1) Only (A) and (B) are correct.

(2) Only (A) and (C) are correct.

(3) Only (B) and (C) are correct.

(4) (A), (B) and (C) are correct.

(5) Question not attempted
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143.

144.

Consider the following statements
regarding provisions as to Ministers
in the Constitution of India :

(I) The total number of Ministers,
including the Chief Minister in
the Council of Ministers in a
State shall not exceed twenty
percent of the total number of
members of the Legislative
Assembly of that State.

(II) The number of Ministers,
including the Chief Minister in a
State shall not be less than ten.

Choose the correct option :

(1) Only statement (I) is correct.

(2) Only statement (II) is correct.

(3) Both the statements (I) and (II)
are correct.

(4) Both the statements (I) and (II)
are not correct.

(5) Question not attempted

Which of the following statements
is not correct regarding motion of
thanks for the Governor’s address
in Rajasthan Legislative Assembly ?
(1) Any member selected by the
Chief Minister may move a
motion expressing thanks to
the Governor for his address.
The motion shall be seconded
by another member selected by
the Chief Minister.

The notice of such motion shall
be signed by the mover and the
seconder and shall be sent to
the Principal Secretary of the
Rajasthan Legislative
Assembly through the Minister
of Parliamentary Affairs.
Amendments may be moved to
the motion of thanks in such
form as may be considered

@

®3)

(4)

appropriate by the Chief
Minister.
(5) Question not attempted
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145.

146.

Consider the following statements
regarding appointment of
additional Judges in the High
Court :

(I) The Chief Justice of the High
Court may appoint the
additional Judges by reason of
any temporary increase in the
business of a High Court.

(II) The appointment of additional
Judges for a temporary period
not exceeding two years.

Choose the correct option :

(1) Only statement (I) is correct.

(2) Only statement (II) is correct.

(3) Both statements (I) and (II) are
correct.

(4) Neither statement (I) nor (II) is
correct.

(5) Question not attempted

Consider the following statements

regarding the Constitution 104t

Amendment Act, 2019 :

(I) By this Amendment, the word

“Seventy years” were replaced

by “certain period” in the

marginal heading of Article

334.

By this Amendment, the

words “seventy years” after

clauses (a) and (b) of Article

334 were replaced by “eighty

years” in clauses (a) and (b).

(IIT) According to clause 1(2) of this
amendment, it came into force
from the 25t day of January,
2020.

Select the correct answer using the

codes :

Codes:

(1) Only (I) and (II) are correct.

(2) Only (IT) and (IIT) are correct.

(3) Only (I) and (III) are correct.

(4) (@), (IT) and (III) are correct.

(5) Question not attempted
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147.

148.

Which of the following pairs is not
correctly matched regarding the
Rajasthan Panchayati Raj Act, 1994 ?

Section Subject-Matter

(1).29 - Election of Pramukh
and Up-Pramukh

(2) 30 — Allowances to
members, etc.

(3) 32 - Powers, functions and
duties of Sarpanch
and Up-Sarpanch

(4) 33 — Powers, functions and

duties of Pradhan
(5) Question not attempted

Which of the following pairs is not
matched
the

correctly
Panchayat

regarding
in Indian
Constitution ?

the
territorial area of a

Panchayat : Article 243 (e)

(2) Reservation of seats for the
Scheduled Castes in
Panchayats : Article 243 D (b).

(3) An
Panchayat shall be completed
before the expiration of a

(1) Panchayat area means

election to constitute a

period of six months from date
of its dissolution : Article 243 E
(3) (b).

(4) The preparation of plans for
economic development and
social justice : Article 243 G (a).

(5) Question not attempted
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149.

150.

Who among the following scholars
has stated that in India nearly all
the political parties are based on
the loyalty to the leaders rather
than loyalty to
institutions. Nearly all of them lack
internal party democracy; they are

values or

in varying degree, centralized ?
(1) Granville Austin

(2) James Manor

(3) SudhaPai

(4) Christophe Jafferlot

(5) Question not attempted

Consider the following statements

regarding - of

Municipalities mentioned in Part-

IX-A of the Constitution of India :

(I) Before premature dissolution, a
reasonable opportunity of being
heard must be given to the
Municipality.

(II) A Municipality constituted after
its dissolution shall continue for
the term of five years.

duration

Choose the correct option from

given above :

(1) Only statement (I) is correct.

(2) Only statement (II) is correct.

(3) Both statements (I) and (II) are
correct.

(4) Neither statement (I) nor (II) is
correct.

(56) Question not attempted
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